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Math 1210: Worksheet #1
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1. In the coordinate system below sketch the graphs of the functions y = ¢* and y = In(x).
Make sure that you clearly label the coordinate system and each curve.
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2. In the coordinate system below sketch the graphs of the functions y = cos(z), y = tan(z).
Make sure that you clearly label the coordinate system and each curve. j‘_w(x)
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3. Find the equation of the secant line to the curve y = In(z) on the interval [e, €3]. Write
the equation in the “slope, y-intercept form” and simplify as much as possible.
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[2] 4. If f(z) = In(z® — 22° + 1), g(z) = €* and h(z) =z — 3, then -
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(c) Expand. (z*+z +3)(z* — 22+ 3) = X%t
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(f) Simplify. In(3e*/5) + In(5¢”) — In(3e” ) =
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